Fileld of Screams—Solwution

You can’t see the dangers underneath

A B C D E Each clue solves to a number from 1-3.

% 2 1 * Enter these into the grid in their indicated locations.

This now looks like the game minesweeper (hinted by
* 2 2 3 * “‘dangers undernearth and minefield from the title)

Solve the minesweeper as a logic puzzle.

Bombs are braille for BOOM (Look for rectangular sets of
6)

N O O A WIN =
N
w

A3. Popular Direction in music — One Direction is a musical band

AG. C tile value — Value of the C Scrabble Tile is 3

B1. Tango requirement— “It Takes Two to Tango” is a popular expression

B2. Turtle doves received — “On the 2nd day of Christmas my true love gave to me two turtle doves”
B3. Loneliest — “One is the loneliest number” is a popular expression and song

B5. C1 piscifauna, B5 piscifauna, crimson piscifauna, periwinkle piscifauna — “One Fish Two Fish,
Red Fish, Blue Fish” a children’s book by Dr. Seuss

C1. (see B5)

C2. (With D2) company — “Two’s Company, Three’s a crowd” is a popular expression
C4. Can be used as a preposition or adverb — “To” fits this description (homophone for “Two”)
C5. Kind of step in Texas — The Texas Two-Step is a popular dance (not just in Texas)

C7. First R-series popular with rebel pilots — R2D2 was the second R Series of Astromech Droid in
Star Wars. This was popular with X-Wing Pilots

D2. (With C2) Crowd — “Two’s Company, Three’s a crowd” is a popular expression
E3. Also — Synonym for "Too”, which is a homophone for “Two”

E4. Tootsie Roll Pop experimental result — From the popular advertising campaign. The wise owl de-
termines it takes 3 licks to get to the center of the Tootsie Roll Pop.

E6. Quantity of impacts bad on a diamond — Clues “three strikes you’re out” in baseball.

E7. Victorious — “Won” which is a homophone for “One”



